INDUSTRIES @

SEA TECH QUICK CONNECT

IN-LINE VALVE

P/N
f 16-S39-8

\(( 16-S39-10
4 16-S39-10-4
_ ‘& S 16-539-14

¢
END STOP
P/N
16-S45-8
- 16-S45-10
== 16-S45-14
16-S45-18
COLLET CLIP
P/IN
16-S47-8
16-847-10
16-S47-14
16-S47-18
O-RING and COLLET
_ P/IN
o 16-S159-08
d 16-S159-10
o 16-S159-14
16-S159-18

Desc

1/2"0OD Tube x 1/2"0D Tube
5/8"0OD Tube x 5/8"0OD Tube
5/8"0OD Tube x 1/4"OD Tube
7/8"0OD Tube x 7/8"0OD Tube

Desc

1/2"0OD Tube
5/8"0OD Tube
7/8"0D Tube

1 1/8"0OD Tube

Desc
1/2"
5/8"
7/8"
11/8"

Desc

1/2"OD Tube
5/8"0OD Tube
7/8"0OD Tube

1 1/8"OD Tube

COMPRESSION SLEEVE

P/N
05-60-2
05-60-3
05-60-4
05-60-5
05-60-6
05-60-7
05-60-8
05-60-10
05-60-12
05-60-14

DELRIN

P/N
05-P60-4
05-PLAST
05-P60-5
05-P60-6
05-P60-8
05-P60-10

Page #18

Desc

1/8" (100 lot)
3/16" (100 lot)
1/4" (100 lot)
5/16" (each)
3/8" (100 lot)
7/16" (each)
1/2" (each)
5/8" (each)
3/4" (each)
7/8" (each)

Desc

1/4" (100 lot)

1/4" Plastic (each)
5/16" (each)

3/8" (100 lot)

1/2" (100 lot)

5/8" (each)

Ph: 800-242-7769 Fax: 800-662-7769

TUBING INSERT

BRASS
P/N Desc
05-63-4L 1/4" x Long (100 lot)
05-63-5 5/16" (each)
05-63-6 3/8" (100 lot)
05-63-8 1/2" (each)
05-63-10 5/8" h

(each) Q
POLYPROPYLENE
P/N Desc
15-1P-4L 1/4" x Long, Plastic (each)
15-1P-5 5/16" (each)
15-1P-6 3/8" (each)
15-1P-6L 3/8" x Long (each)
15-1P-8 1/2" (each)

COMPRESSION NUT
P/N Desc
05-61-2 1/8"
05-61-3 3/16"
05-61-4 1/4"
05-61-5 5/16"
05-61-6 3/8"
05-61-7 7/16"
05-61-8 172"
05-61-10 5/8"
05-61-12 3/4"
05-61-14 7/8"
COMPRESSION CAP
P/N Desc
05-59-4 1/4"
05-59-6 3/8"
05-59-8 172"
05-59-4W 1/4", w/ Washer 2
05-59-6W 3/8", w/ Washer y
05-59-8W 1/2", w/ Washer
NYLON BALL

P/N Desc

05-60B-4 1/4"
05-60B-6 3/8"

COMPRESSION UNION

P/N Desc
05-62-2 1/8"
05-62-3 3/16"
05-62-4 1/4"
05-62-5 5/16"
05-62-6 3/8"
05-62-7 7/16"
05-62-8 1/2"
05-62-10 5/8"
05-62-12 3/4"
05-62-14 7/8"

ARROW INDUSTRIES - 465 N BERRY ST - BREA, CA 92821



INDUSTRIES @

COMPRESSION UNION (bare)

COMPRESSION REDUCING UNION

P/N

COMPRESSION ELBOW

P/N

N

FEMALE to MALE COMPRESSION

FEMALE to MALE COMPRESSION (Elbow)

COMPRESSION to FIP

P/N
—

P/N
05-B62-4
05-B62-6

05-62R-4-2
05-62R-4-3
05-62R-5-4
05-62R-6-4
05-62R-6-5
05-62R-8-6
05-62R-10-6
05-62R-10-8

05-65-4
05-65-5
05-65-6
05-65-7
05-65-8
05-65-10
05-65-12
05-65-14

P/N

05-57-4-6
05-57-6-4
05-57-6-8
05-57-8-6
05-57-4W
05-57-6W
05-57-8W

P/N
05-57L-4-4

05-66-4-2
05-66-4-4
05-66-4-6
05-66-4-8
05-66-6-4
05-66-6-6
05-66-6-8
05-66-6-12
05-66-8-4
05-66-8-6
05-66-8-8
05-66-10-8
05-66-14-12

Desc

1/4" body only, NO Nuts or Sleeves
3/8" body only, NO Nuts or Sleeves

Desc

1/4"C x 1/8"C
1/4"C x 3/16"C
5/16"C x 1/4"C
3/8"C x 1/4"C
3/8"C x 5/16"C
1/2"C x 3/8"C
5/8"C x 3/8"C
5/8"C x 1/2"C

Desc

1/4"C x 1/4"C
5/16"C x 5/16"C
3/8"C x 3/8"C
7/16"C x 7/16"C
1/2"C x 1/2"C
5/8"C x 5/8"C
3/4"C x 3/4"C
7/8"C x 7/8"C

Desc

1/4"Female C x 3/8"Male C
3/8"Female C x 1/4"Male C
3/8"Female C x 1/2"Male C
1/2"Female C x 3/8"Male C
Washer for 05-57-4-x
Washer for 05-57-6-x
Washer for 05-57-8-x

Desc
Elbow, 1/4" Fem C x 1/4"Male C

Desc

1/4"C x 1/8"FIP
1/4"C x 1/4"FIP
1/4"C x 3/8"FIP
1/4"C x 1/2"FIP
3/8"C x 1/4"FIP
3/8"C x 3/8"FIP
3/8"C x 1/2"FIP
3/8"C x 3/4"FIP
1/2"C x 1/4"FIP
1/2"C x 3/8"FIP
1/2"C x 1/2"FIP
5/8"C x 1/2"FIP
7/8"C x 3/4"FIP

COMPRESSION to FIP (Slip Joint)

P/N

05-66SP-8-6

COMPRESSION to FIP ELBOW

PIN
05-70-4-2
05-70-4-4
05-70-4-6
05-70-4-8
05-70-6-4
05-70-6-6
05-70-6-8
05-70-6-12
05-70-8-4
05-70-8-6
05-70-8-8
05-70-8-12
05-70-10-8
05-70-10-12
05-70-12-8
05-70-12-12

P/N
05-58-4CPR
05-80-4-6
05-80-6-6
05-80-8-6
05-67-4-4

P/N
05-68-4-2
05-68-4-4
05-68-4-6
05-68-4-8
05-68-5-4
05-68-5-6
05-68-5-8
05-68-6-2
05-68-6-4
05-68-6-6
05-68-6-8
05-68-6-12
05-68-7-4
05-68-7-6
05-68-8-4
05-68-8-6
05-68-8-8
05-68-8-12
05-68-10-6
05-68-10-8
05-68-10-12
05-68-12-12
05-68-14-8
05-68-14-12
05-B68-4-4

Ph: 800-242-7769 Fax: 800-662-7769

Desc
1/2"FIP (7/16"SJ) x 3/8"C

Desc

1/4"C x 1/8"FIP
1/4"C x 1/4"FIP
1/4"C x 3/8"FIP
1/4"C x 1/2"FIP
3/8"C x 1/4"FIP
3/8"C x 3/8"FIP
3/8"C x 1/2"FIP
3/8"C x 3/4"FIP
1/2"C x 1/4"FIP
1/2"C x 3/8"FIP
1/2"C x 1/2"FIP
1/2"C x 3/4"FIP
5/8"C x 1/2"FIP
5/8"C x 3/4"FIP
3/4"C x 1/2"FIP
3/4"C x 3/4"FIP

COMPRESSION to FLARE

Desc

1/4"FemFlare x 1/4"C
1/4"Texas FemFlare x 3/8"C
3/8"Texas FemFlare x 3/8"C
3/8"Texas FemFlare x 1/2"C
1/4"Male Flare x 1/4"C

COMPRESSION to MIP

Desc

1/4"C x 1/8"MIP
1/4"C x 1/4"MIP
1/4" C x 3/8" MIP
1/4" C x 1/2" MIP
5/16" C x 1/4" MIP
5/16" C x 3/8" MIP
5/16" C x 1/2" MIP
3/8"C x 1/8"MIP
3/8"C x 1/4"MIP
3/8"C x 3/8"MIP
3/8"C x 1/2"MIP
3/8"C x 3/4"MIP
7/16" C x 1/4" MIP
7/16"C x 3/8"MIP
1/2"C x 1/4"MIP
1/2"C x 3/8"MIP
1/2"C x 1/2"MIP
1/2"C x 3/4"MIP
5/8"C x 3/8"MIP
5/8"C x 1/2"MIP
5/8"C x 3/4"MIP
3/4"C x 3/4"MIP
7/8"C x 1/2"MIP
7/8"C x 3/4"MIP
1/4"C x 1/4"MIP, NO Nut or Sleeve

ARROW INDUSTRIES - 465 N BERRY ST - BREA, CA 92821

Page #19



INDUSTRIES @

coupRessio ompELBOW 1 oRNG

Desc

05-69-4-2 1/4"C x 1/8"MIP
05-69-4-4 1/4"C x 1/4"MIP
05-69-4-6 1/4"C x 3/8"MIP
05-69-4-8 1/4"C x 1/2"MIP
05-69-6-4 3/8"C x 1/4"MIP
05-69-6-6 3/8"C x 3/8"MIP
05-69-6-8 3/8"C x 1/2"MIP
05-69-6-12 3/8"C x 3/4"MIP
05-69-7-4 7/16"C x 1/4"MIP
05-69-7-6 7/16"C x 3/8"MIP
05-69-8-6 1/2"C x 3/8"MIP
05-69-8-8 1/2"C x 1/2" MIP
05-69-10-8 5/8"C x 1/2"MIP
05-69-10-12 5/8"C x 3/4"MIP
05-69-14-12 7/8"C x 3/4"MIP
05-B69-6-6 3/8"C x 3/8"MIP, NO Nut or Sleeve
05-B69-8-6 1/2"C x 3/8"MIP, NO Nut or Sleeve
COM PRESSION TEE
Desc
05-64—2 1/8"
05-64-3 3/16"
05-64-4 1/4"
05-64-6 3/8"
05-64-7 716"
05-64-8 1/2"
05-64-10 5/8"
05-64-12 3/4"
05-64-14 7/8"
COMPRESSION REDUCING BRANCH TEE
Desc
05 64R-442 1/4"C thru x 1/8"C Branch
05-64R-446 1/4"C thru x 3/8"C Branch
05-64R-664 3/8"C thru x 1/4"C Branch
05-64R-884 1/2"C thru x 1/4"C Branch
05-64R-886 1/2"C thru x 3/8"C Branch

COMPRESSION to FIP BRANCH TEE

Desc
05 77-4-4 1/4"C thru x 1/4"FIP Branch
05-77-6-2 3/8"C thru x 1/8"FIP Branch
05-77-6-4 3/8"C thru x 1/4"FIP Branch
05-77-8-6 1/2"C thru x 3/8"FIP Branch

COMPRESSION to MIP BRANCH TEE

Desc
1/4"C thru x 1/4"MIP Branch
3/8"C thru x 1/4"MIP Branch

05 72-4-4
05-72-6-4

Page #20

NITRILE

P/N
15-P40OR
15-P60OR
15-P8OR
15-P100R

JOHN GUEST TUBING

Ph: 800-242-7769 Fax: 800-662-7769

Desc
1/4"
3/8"
1/2"
5/8"

1/4" x 500 FEET

P/N Desc
04-32500W White
04-32500BL  Blue
04-32500BLK  Black
04-32500N Natural
04-32500G Green
04-32500Y Yellow
04-325000R  Orange
04-32500R Red

3/8" x 500 FEET

P/N Desc
04-33500W White
04-33500BL Blue
04-33500BLK Black
04-33500N Natural
04-33500G Green
04-33500Y Yellow
04-335000R Orange
04-33500R Red
1/2" x 250 FEET

P/N Desc
04-30250W White
04-30250BL Blue
04-30250BLK Black

POLYVINYL TUBING (FDA)

CLEAR

P/N

04-202
04-203
04-204
04-206
04-206-HD
04-208
04-208-HD
04-210
04-211

Desc

1/4"0OD x 1/8"ID x 100 feet
5/16"0D x 3/16"ID x 100 feet
3/8"0D x 1/4"ID x 100 feet
1/2"0D x 3/8"ID x 100 feet
5/8"0D x 3/8"ID x 100 feet
5/8"0D x 1/2"ID x 100 feet
3/4"0D x 1/2"ID x 100 feet
3/4"0D x 5/8"ID x 100 feet
7/8"0D x 5/8"ID x 100 feet

BLACK (Water Softener Drain Hose)

P/IN
04-8D250BK

‘

Desc
5/8"0OD x 1/2"ID x 100 feet

ARROW INDUSTRIES - 465 N BERRY ST - BREA, CA 92821





